
 
 

*Materials calculated for shower walls 6 1/2 ft. and 8 ft. tall, including three framed walls (one short back wall, two short side wall) to be tiled in 
wet area. Curb/ramp is optional and for one long side of a rectangular shower, seats optional, bench is for one short shower wall and optional, 
soap niches optional. See back page for options. Estimates not guaranteed and must be field verified by customer (framing may vary). 
 

Fundo Ligno Shower System   
Product Quantity Estimates by Installation Size 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

wedi Fundo Ligno Shower  36” x 48” 6 ½’ walls 8’ walls 
Description Part Number Quantity  Quantity 

wedi Fundo Ligno Shower Base 36” x 48” 073732014 1 1 
wedi Drain Kit / Cover Plate US1000003 1 1 

wedi Building Panel 3’ x 5’ x ½” 010717064 6 6 
wedi 1 5/8” Non-Rust Screws 100 ct. US5000016 1 1 

wedi ¼” Metal Washers with Tabs 100 ct. US5000014 1 1 
wedi Joint Sealant 10.5 oz. cartridge US5000013 7-8 8-9 

wedi Fundo Ligno Shower  48” x 48” 6 ½’ walls 8’ walls 
Description Part Number Quantity  Quantity 

wedi Fundo Ligno Shower Base 48” x 48” 073732015 1 1 
wedi Drain Kit / Cover Plate US1000003 1 1 

wedi Building Panel 3’ x 5’ x ½” 010717064 7 7 
wedi 1 5/8” Non-Rust Screws 100 ct. US5000016 1 1 

wedi ¼” Metal Washers with Tabs 100 ct. US5000014 1 1 
wedi Joint Sealant 10.5 oz. cartridge US5000013 8-9 9-10 

 

wedi Fundo Ligno Shower System 

A 
B 

C 

D 

wedi Fundo Ligno Shower Base 

wedi Fundo Drain Kit / Cover Plate 

wedi Building Panel 

wedi Subliner Dry Sheet Membrane 

 

A 

B 

C 

D 



 
 

*Materials calculated for shower walls 6 1/2 ft. and 8 ft. tall, including three framed walls (one short back wall, two short side wall) to be tiled in 
wet area. Curb/ramp is optional and for one long side of a rectangular shower, seats optional, bench is for one short shower wall and optional, 
soap niches optional. See back page for options. Estimates not guaranteed and must be field verified by customer (framing may vary). 
 

Fundo Ligno Shower System   
Product Quantity Estimates by Installation Size 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

wedi Fundo Ligno Shower  36” x 60” 6 ½’ walls 8’ walls 
Description Part Number Quantity  Quantity 

wedi Fundo Ligno Shower Base 36” x 60” 073732016 1 1 
wedi Drain Kit / Cover Plate US1000003 1 1 

wedi Building Panel 3’ x 5’ x ½” 010717064 6 6 
wedi 1 5/8” Non-Rust Screws 100 ct. US5000016 1 1 

wedi ¼” Metal Washers with Tabs 100 ct. US5000014 1 1 
wedi Joint Sealant 10.5 oz. cartridge US5000013 8-9 9-10 

wedi Fundo Ligno Shower  48” x 60” 6 ½’ walls 8’ walls 
Description Part Number Quantity  Quantity 

wedi Fundo Ligno Shower Base 48” x 60” 073732017 1 1 
wedi Drain Kit / Cover Plate US1000003 1 1 

wedi Building Panel 3’ x 5’ x ½” 010717064 7 7 
wedi 1 5/8” Non-Rust Screws 100 ct. US5000016 1 1 

wedi ¼” Metal Washers with Tabs 100 ct. US5000014 1 1 
wedi Joint Sealant 10.5 oz. cartridge US5000013 9-10 10-11 

wedi Fundo Ligno Shower  60” x 60” 6 ½’ walls 8’ walls 
Description Part Number Quantity  Quantity 

wedi Fundo Ligno Shower Base 60” x 60” 073732018 1 1 
wedi Drain Kit / Cover Plate US1000003 1 1 

wedi Building Panel 3’ x 5’ x ½” 010717064 7 8 
wedi 1 5/8” Non-Rust Screws 100 ct. US5000016 1 2 

wedi ¼” Metal Washers with Tabs 100 ct. US5000014 1 2 
wedi Joint Sealant 10.5 oz. cartridge US5000013 12-13 13-14 



 
 

*Materials calculated for shower walls 6 1/2 ft. and 8 ft. tall, including three framed walls (one short back wall, two short side wall) to be tiled in 
wet area. Curb/ramp is optional and for one long side of a rectangular shower, seats optional, bench is for one short shower wall and optional, 
soap niches optional. See back page for options. Estimates not guaranteed and must be field verified by customer (framing may vary). 
 

Fundo Ligno Shower System   
Product Quantity Estimates by Installation Size 

 
 

 

 

 

wedi Building Panel   wedi Shower Base Extensions  
Description Part Number Qty.  Description Part Number Qty. 
Building Panel 3’ x 8’ x 1/2” 010000912   Ligno Extension 12” x 60” 073732030  
Building Panel 4’ x 8’ x 1/2” 010001612      
    wedi Fundo Cover Plates   
wedi Recessed Niches    Description Part Number Qty. 
Description Part Number Qty.  Oil Rubbed Bronze Cover Plate US1000008  
Niche 16” x 8” US3000003   Fino Tileable Cover Plate (square) US1000020  
Niche 16” x 12” US3000004   Fino Cover Set 1.1 (square/daisy) US1000021  
Niche 16” x 16” US3000005   Fino Cover Set 1.1.2 (round/daisy) US1000023  
Niche 16” x 22” w/adj. shelf US3000007   Fino Cover Set 3.1 (square/pebble) US1000024  
Niche 16” x 30” Cathedral US3000016   Fino Cover Set 3.1.2(round/pebble) US1000026  
Niche Lean Combo 16” x 42” US3000006      
    wedi Subliner Dry   
wedi Shower Seats/Benches    Description Part Number  
Description Part Number Qty.  Waterproof Sealing Tape 5” x 32.8’ US5000002  
Suspended Corner Seat M US3000001   Sealing Tape Inside Corner (2/pk) US5000007  
Suspended Corner Seat L US3000002   Sealing Tape Outside Corner (2/pk) US5000008  
Triangle Corner Seat  073784101   Subliner Dry Membrane (53 sq ft.)   US5000001  
Rectangular Bench  073784100      
Sanoasa Shower Bench 1M 076447030      
Sanoasa Shower Bench 1L 076447031      
Sanoasa Shower Bench 2M 076447032      
Sanoasa Shower Bench 2L 076447033      
Sanoasa Shower Bench 3M 076447034      
Sanoasa Shower Bench 3L 076447035      
       
       
       

 

 

 

 

 

         Additional Options/Substitutions 

 


